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TIPOMETPHZH YAIKQIN
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PE 40: Mpapph 1: 20,00+59,00=79,00m -\,;‘7/\
Fpappr 2: 20,00+21,00+42,00=83,00m %“S?“
>
Mpapph 3: 4,00+29,00=33,00m o Z V-y
A
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Tpappn 4: 45,00m % & 2 %
ZYNOAO:79,00+83,00+33,00+45,00=240,00m @ Q ® » @® . ‘;\/\
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PE ®25: Mpapph 1: 25,00+4*5,00+20,0+60,00=125,00m
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Fpapph 2: 85,00m

Tpappn 3: 26,00+27,00+13,00+22+13,00+25,00=126,00m »
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Tpappn 4: 9,00+6,00+30,00+37,00+18,00+15,00+10,00+16,00=141,00m &
ZYNOAO:125,00+85,00+126,00+141,00=477,00m 00 @

Odpvor ©4: Mpappn 1: 3*10+9+40=79,00
Tpapprh 2: 10+12+2*6+10=44,00
Tpapph 3: (33,00+126,00)/2,00=72,00
Tpappr 4: (45,0+141,00)/2,00=93,00

&40

ZYNOAO: 79,00+44,00+72,00+93,00=288,00

2715

Aévdpa AS: Tpapph 1: 2*3+4+2+4+4+7=27
Tpapurh 2: 3+4+2+4+85/12=20
papph 3: (33,00+126,00)/8=16
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N 2: + =24
Foau 2: (45.00-141,00)/8 = 240 @ EAAHNIKH AHMOKPATIA

AHMOZ APTAIQN (NOMOY APTAZ)

TYNOAO: 27,00+20,00+16,00+24,00=-87,00
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Aévdpa A3: Tpappn 2: 85,00/12=8 [

TEXNIKH YTHPEZIA

Nnoideg: Tpappn 1: 83.00+(4*5.00+20.00+60.00)*1.00-183,00m2 o

—b5.,00—

Tpappn 2.3.4: 1.518.00+128.00+62.00+143.00+83.00-1.934,00m2

Zivoho: 183,00+1934,00=2.117,00m2 Hq—
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_ AIAMOP®QZH NEPIBAANONTOZ XQPOY KAEIZTOY

Epvo F'YMNAZTHPIOY APTAZ
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Oéon: KQZTAKIOI APTAZ
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Txediou : APAEYTIKO AIKTYO

—5.00—
w W
t%y
-

25

AP.01

ad

I N\
®25 60.00 10 N

OPIZTIKH MEAETH

A

Xpévog MeAémng : PEBPOYAPIOX 2019 KAIMAKA :1/500

EIZOAOZY

225
AHMOTIKH OAOE _
O ZYNTAZAZ OEQPHOHKE
APTAV........./.2019
H AIEYOYNT
APAEYTIKOE AYAAKAE TEXNIKO ANOIFMATOS 2,80%2,20m PIATYA

AITEAOX ZAKKAZ
MOAITIKOZ MHXANIKOZ

AHMOTIKH OAOX
SOQIA TPYAAIA

TOMOrPA®OZ MHXANIKOZ




